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Section : Part-A-General Intelligence and Reasoning

Q1 Five people Amanda, Ben, Carol, David, and Emily are sitting on a circular table facing towards the center. Carol sits in
between Ben and David. Emily sits to the left of Amanda. Amanda and David are not neighbours. Who sits to the
immediate right of Amanda?

Ans X 1. Carol
X 2. David
X 3. Emily
+ 4 Ben

Q2 1In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion logically follows the given statements.
Statements:

I All'W are C.

II. Some P are W.

Conclusion:

I. Some C are P.

II. NoPis C.

II1. Some C are W.
Ans X 1. Both conclusions II and III follows
+ 2. Both conclusion I and III follows
# 3. Both conclusions I and II follows

/< 4. Only conclusion II follows



Dell
Stamp


Q3 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

OO




Q4 In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.
A AO AOA AOAO ?
1 |AOVOA
x2 IOAOAQ|
v: |AOAQOA
x+ |AOVYOVW
Q.5

Which two signs should be interchanged to make the given equation correct?

15-9=x8+12-4=17
Ans X 1. % and -

2. +and +

X 3 xand+

X 4 xand +




Q.6

Ans

Which of the following numbers will replace the question mark (?) in the given series?
8463, 8384, 8305, 8226, ?, 8068

2 1. 8088

2. 8147

X 3. 8103

X 4 8184

Q.7

Ans

In the following question, select the missing number from the given series.

I, 16,31, 46.61.7
X1 78
X270
3. 76
X 4 80

Q.8

Ans

On folding the given die, which letter will be opposite to the letter K?

J|K|O

X1 0
X2 T
X3 H
4 M

Q.9

Ans

In a certain code language, ‘HOST” is coded as ‘9724°, ‘KINDO?’ is coded as ‘453107, ‘KINOWS’ is coded as “37654".
What can be the code for “W” in that code language?

s 6
X2 5
X3 4
xXa 7

Q.10

Ans

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
RMIE, VQNI, ZURM, DYVQ, ?
X 1. HMCZ
« 2. HCZU
X 3. HMNR
X 4. HNRM




Q.11

Ans

Which two signs should be interchanged to make the given equation correct?
10-3+2%x12+6=6

X1 -and=

2 x and +

X3 =and+

X4 +and -

Q.12

Ans

Which of the following letter-number cluster will replace the blank () in the given series?

YTWO0, . UPSI, SNQO, QLOL, OIMI
X 1. WRUO
¢ 2 WRUI
X3 VTUIL
X 4 VRWO

Q.13

Ans

After arranging the given words according to dictionary order, which word will come at ‘Fifth’ position?
1. Whip

2 While

3. White

4 Whisk

5. Whiff

X 1. Whisk
X 2. Whip
X< 3. While
« 4 White

Q.14

Ans

Select the option that is related to the third word in the same way as the second word is related to the first word.
Artist : Canvas :: Sculptor : ?
X 1. Paint
X 2. Pen
« 3. Stone
X 4. Paper

Q.15

Ans

In the following question, select the related letter pair from the given alternatives.

XEKNS : WIMR :: ?
X 1. MZIG : ARZO
X 2. KUQP : RSHO
X 3. BOEF : DIKI
« 4 EADT : DZCS




Q.16

Ans

A piece of paper is folded and punched as shown below in the question figures. From the given option figures, indicate
how it will appear when opened.

-----
"""""""""
4, o L
) 5 %
5 ]
% g .
T H
¥ srssanng
: :
2 H
s -
K -
E I
o &
i o
ot o

AT

VUUF’

Q.17

Ans

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

PQMN, STPQ, VWST, YZVW, ?
« 1. BCYZ
X 2. MCTQ

< 3. BTPQ
X 4. BMPQ

Q.18

Ans

In a certain code language, if ELEVEN is coded as GNGXGP, TWENTY is coded as VYGPVA, then what will FORTY
be coded as?

A 1. HPTVA
X 2. HQTUA

X 3. HTQVA
4+ HQTVA

Q.19

Ans

Seven friends A, B. C, D, E. F, and G are sitting around a circular table facing away from the centre. D is sifting to the
immediate right of G. A sits exactly between C and E. B sits to the immediate left of F. G and C are not neighbours. E
sits adjacent to D. Who sits to the immediate right of F?

X1 E
~ 2.
X 3.
W 4.

Q » W




Q.20

Ans

Select the figure that will replace the question mark (?) in the following figure series.

00O
00O
000

OO0
OO0
O0A

0:0r0
ONONO
OAA

00O

OO0O0
AAA

ORORO
O0A
& 40

vl

>OO
>D> O

> D> O

3
> OoD
>OO

> D> O

&< 3.

> D> O
> D> O
> > O

s
> D> O
>OO
>D>O

Section : Part-B-General Knowledge and General awareness

X 1. Kerala

X 2. Maharashtra

X 3. Haryana

« 4. Telangana

@1 Which country has won the FIH Men’s Hockey World Cup 20237
Ans X 1. Netherlands
« 2. Germany
X 3. Australia
X 4. Belgium
Q2 To which of the following states of India does the dance form Dandari belong?
Ans




Q.3

Ans

Which of the following singer was awarded Padma Bhushan in 2023 for her contribution to film playback singing in 19

languages?

X 1. Sulochana Chavan
+ 2. Vani Jairam

X 3. KS Chithra

X 4. D.K. Pattammal

Q.4

Ans

Who is appointed as Attorney General for India from 1st October, 20227
X 1. Soli Sorabjee

X 2. Mukul Rohatgi

X 3. K. K. Venugopal

+ 4. R. Venkataramani

Q.5

Ans

Which five-year plan of India was introduced under the leadership of Indira Gandhi?
X 1. Third

X 2. First

< 3. Second

« 4 Fourth

Q.6

Ans

Hareli, Kajari, and Madai festival are associated with which of the following states?
A 1. Uttar Pradesh

« 2. Chhattisgarh

X 3. Punjab

X 4. Haryana

Q7

Ans

Which chemical compound is used in car batteries and has the formula PbSO4?
A 1. Sulfuric acid
X 2. Lead sulphide

X 3. Lead oxide
« 4 Lead sulfate

Q.8

Ans

According to the 2011 census of India, which of the following states/UTs is most literate?
« 1. Goa

X 2. Tamil Nadu

X 3. Chandigarh

X 4. Andaman & Nicobar Islands

Q.9

Ans

During ancient India in the Tamil region. ordinary ploughmen were known as

« 1. uzhavar
X 2. adimai
X 3. kadaisiyar

X 4. vellalar




Q.10

Ans

Before . India was in the first stage of demographic transition.

X 1. 1980
X 21990
X 31960
o 4 1921

Q.11

Ans

In 1919, Gandhiji called for a satyagraha against the Rowlatt Act that curbed such as the freedom of
expression.

X 1. fundamental duties
« 2. fundamental rights

X 3. only civil rights

X 4. international rights

Q.12

Ans

The Vice-President of India serves as the ex-officio Chairman of which legislative body?
+ 1. Rajya Sabha

X 2. State Legislative Assembly

X 3. Lok Sabha

X 4. State Legislative Council

Q.13

Ans

Famed Bharatnatyam exponent and founder of Kalakshetra, Rukmini Devi Arundale was the proud recipient of 1956

X 1. Natraj Academy award
X 2. Bharat Ratna

X 3. Kalidas Samman

" 4. Padma Bhushan

Q.14

Ans

Which Indian state hosted the FIH Men’s Hockey World cup 2023?

2 1. JTharkhand
X 2. Karnataka
# 3. Tamil Nadu
+ 4 Qdisha

Q.15

Ans

Who chairs the parliamentary committee report that prepared the report 'Covid-19 Pandemic: Global Response, India’s
Contributions and the Way Forward'?

v 1. PP Chaudhary
X 2. Rajnath Singh

2 3. Arun Jetli
X 4. Narendra Modi




Q16 Cricket became an international game with the formation of the in 1909.
Ans 1. ICC

X2 IYC

X 3. TPL

X 4. BCC

Q17 The Gross Demestic Product of a country is derived from the different sectors of the economy, namely
Ans X 1. commercial and trading sector

< 2. rural and urban sectors

X 3. agricultural sector, and the industrial sector only

« 4. agricultural sector, the industrial sector and the service sector

Q.18 The Right to Freedom includes the right to practice any profession. occupation, trade, or business under which articles
of the Indian Constitution?

Ans X' 1. Articles 25-28
X 2. Articles 23-24
+ 3 Articles 19-22
X 4 Articles 14-18

Q19 India has Km of land border and a coastline of 7,516.6 Km including island territories.
Ans X 1 25.106.7

X 2.9,106.7

X 3. 5.106.7

v 4 15,106.7

Q20 Which of the following statements is correct regarding Central Goods and Services Tax (Amendment) Bill, 2023?
I. It was introduced in Lok Sabha in August, 2023.

II. It amends the Central Goods and Services Tax (CGST) Act, 2017.
Ans X 1. Neither I nor IT
+ 2. Both I and IT
X3 OnlyI
X 4 Only I

Section : Part-C-Elementary Mathematics

Q1 The marked price of a chair is 10 percent more than its cost price. If the chair is sold for Rs. 132 after a discount of
Rs. 11, then what will be the profit percentage?

Ans X1, 2 percent
« 2. 1.53 percent
2 3. 1.78 percent
X 4. 1.21 percent




Q.2

Ans

A mixture contains acid and water in the ratio of 7 : 4. If 2 litres of water is added to it, then the ratio of acid and water

becomes 7 : 5. What is the quantity of acid in the mixture?
X 1. 20 litres

X 2. 21 litres

X 3. 7 litres

4 14 litres

Q.3

Ans

The compound interest (compounding half vearly) received on Rs. 1000 for 2 years is Rs. 464.1 What is the rate of

interest per annum?
« 1. 20 percent
X 2. 30 percent
X 3. 35 percent

X 4. 25 percent

Q.4

Ans

The difference between cost price and selling price of an article is Rs. 120. If profit percentage is 10 percent, then what

is the selling price?
« 1. Rs. 1320
X 2. Rs. 1000
X 3. Rs. 1200
X 4. Rs. 1440

Q.5

Ans

27 percent of a number exceeds 13 percent of the same number by 56. What is the value of the number?
X< 1. 360
<2420
X< 3. 380
« 4 400

—_— = =

Q.6

Ans

Two boys are standing on the opposite ends of a 900 metres long bridge. If they walk towards each other at the speed of

10 metres/minute and 8 metres/minute respectively, then in how much time will they meet each other?
X 1. 25 minutes

« 2. 50 minutes

X 3. 62 minutes

# 4. 38 minutes

Q.7

Ans

Find the area of the right angled triangle if the longest side of a right angled triangle is 17 cm and the height is 15 em.
X1 54 cm?
X 2. 56 cm?
+ 3 060 cm?®
X 4 58 cm?

Q.8

Ans

If the selling price of a fan is Rs. 306 and loss percentage is 32 percent, then what is the cost price of the fan?

X 1. Rs. 400
« 2. Rs. 450
X 3. Rs. 350
X 4. Rs. 380




Q.9

Ans

Which of the following number is divisible by 117

« 1. 6589
X2 9164
X 3. 8962
X 4 4857

Q.10

Ans

Seema can do a work in 120 days, Anjali can do the same work in 144 days and Sonivya can do the same work in 180
days. If they do that work together and they are paid Rs. 3300, then what is the share of Anjali?

« 1. Rs. 1100
< 2. Rs. 2000
X 3. Rs. 2500
X 4. Rs. 1700

Q.11

Ans

What is the Highest Common Factor of 23 %37 and 2% % 3%
X1 2x32
X2 93433
3. 93 39
X4 22432

Q.12

Ans

An article is sold for ¥ 204 after two successive discounts of 40% and 50%. What is the marked price of the article?
X 1. Z 540
X2 3720
X 3. 7840
4 680

Q.13

Ans

In a school there are total 560 students. The ratio of boys and girls is 13 : 15. If 40 more boys gets admitted into the
school, then what will be the new ratio of boys and girls?

X12:3
2 1:1
X3 3:1
X4 2:1

Q.14

Ans

The average weight of T, U and V is 42 kg. If the average weight of T and U is 40 kg and the average weight of U and V
is 36 kg, then what is the weight of U?

X1 22kg
X2 24kg
v 3 26kg
X4 29kg




Q15 If p-g=9, and p> + q*> = 127. Find the value of pq.
ans X112

X215

3 23

X4 27

Q16 The simple interest on a certain sum of money is ¥ 2275 at 13% per annum in 5 years. Find the sum of money.

Ans X 1. % 4000
« 2. 23500
X 3. 25600
X4 F4200

Q17 5] alone can do a work in 16 days and S2 alone can do the same work in 80 days. With help of S3, they finish the

same work in 6 days. In how many days S3 alone can do the same work?
Ans X 1. 9 days
X 2. 7 days
« 3. 120/11 days
X 4. 12 days

Q.18 If the original price of a watch is Rs. 500 and it is increased by 10%, then decreased by 15%, what is the final price?
Ans X 1. Rs. 405.67

+ 2. Rs. 467.50

< 3. Rs. 476.60

< 4. Rs. 456.70

Q19 YWhat is the value of [289 + {68 + 4 * (14 +2 % 6 =9)}]?
Ans X117

X200

3 1

X 4. 289

Q.20  The average marks of a student in 6 subjects are 75. If the student scores 80 in one subject, what will be the total score

in the remaining subjects.
Ans 1370

X 2. 340

X 3. 350

X 4. 380

Section : Part-D-English




Q1

Ans

Select the most appropriate antonym of the given word.

Budding

« 1. Withering
X 2. Nostalgia
X 3. Jaunty

X 4. Progressive

Q.2

Ans

Select the incorrectly spelt word from the given sentence.

The couple walked towards the opposite end of the dungeon, where she previously plaved with destieny.
X 1. dungeon

X 2. couple

« 3. destieny

X 4. previously

Q.3

Ans

Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

Family dispute erupted soon after grandpa’s death as he left some unclear things in his will.
« 1. Agrey area
X 2. Break a leg

# 3. Beat around the bush
X 4. Crack a book

Q.4

Ans

Select the most appropriate word to fill in the blank.

The population  wvery fast in the last decade.
X 1. had been risen

X 2. rising

« 3. has risen

< 4. rises

Q.5

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

People put considerably many more effort when working in groups than when working alone.
X 1. than when working alone
« 2. People put considerably many more

X 3. No error
X 4. effort when working in groups




Q6 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Many people fear how they will manage if the virus will show upon in town.
Ans 1. virus will show upon in town.
X 2. they will manage if the
X 3. Many people fear how
X 4. No error
Q7 Choose the word that means the same as the given word.
Daring
Ans X 1. Patience
+ 2. Fearless
X 3. Coward
X 4. Trepid
Q8 Select the most appropriate word to fill in the blank.
! That looks disgusting.
Ans X 1. Wow
< 2. Oops
+ 3 Yikes
X 4. Hush
Q9  Choose the option which is antonvm of (opposite of) the word "abdicated" in the sentence given below:
During the meeting, he confidently asserted his viewpoint, providing compelling arguments to support his position.
Ans & 1. asserted
X 2. confidently
< 3. support
X 4. compelling
Q10 Select the most appropriate word to fill in the blank.
The instructions I just couldn't follow them.
Ans

X 1. is complicated
X 2. are complicate
« 3. were complicated

X 4. was complicated




Q.11

Ans

Choose the word that is opposite in meaning to the given word.

Applause

« 1. Taunt

X 2. Praise

X 3. Intolerant
X 4. Pray

Q.12

Ans

Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.
Do you know how to speak Japanese?
X 1. to speaks Japanese
X 2. to spoke Japanese
+ 3. No improvement

X 4. to speak Japan

Q.13

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Neither of the teachers is participating on this event.

X 1. teachers is participating

+ 2. on this event.

X 3. No error

X 4. Neither of the

Q.14

Ans

Select the sentence with no spelling errors.

« 1. Taking a walk in nature can help reduce stress levels.
X 2. Taking a wak in nature can help reduce stress levels.
X 3. Taking a walk in nature can help reduce stres levels.
X 4. Takking a walk in nature can help reduce stress levels.

Q.15

Ans

Select the most appropriate meaning of the given idiom
Get down to brass tacks

X 1. Compromise, cooperation between people

X 2. Get fired from the job

« 3. To become serious about something

X 4. To be ready




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Instead, we (1) our policy on hopes that by befriending her we would (2) the evil day of reckoning.
The evil day (3) on 20th October 1962, barely 15 years (4) Independence, and 12 years after
China’s (5) of Tibet.

SubQuestion No : 16

Q16 Select the most appropriate option to fill in the blank No. 1.
Ans & 1. based

X 2. placed

X 3. grounded

< 4 situated

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Instead, we (1) our policy on hopes that by befriending her we would (2)
The evil day (3) on 20th October 1962, barely 15 years (4)
China’s (5) of Tibet.

the evil day of reckoning.
Independence. and 12 years after

SubQuestion No : 17

Q17 Select the most appropriate option to fill in the blank No. 2.
Ans X 1. stoved

X 2. stave on

+ 3. stave off

X 4. stave of

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Instead, we (1)

our policy on hopes that by befriending her we would (2)
The evil day (3)

on 20th October 1962, barely 15 years (4)
China’s (5) of Tibet.

the evil day of reckoning.
Independence, and 12 years after

SubQuestion No : 18
Q18 Select the most appropriate option to fill in the blank No. 3.

Ans X 1. established
X 2. approached
X 3. comes
« 4. came




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Instead, we (1)

our policy on hopes that by befriending her we would (2)
The evil day (3)

on 20th October 1962, barely 15 years (4)
China’s (5) of Tibet.

the evil day of reckoning.
Independence, and 12 years after

SubQuestion No : 19
Q19 Select the most appropriate option to fill in the blank No. 4.

Ans X' 1. later
X 2. afterwards
« 3. after
X 4. behind

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

Instead, we (1)

our policy on hopes that by befriending her we would (2)
The evil day (3)

the evil day of reckoning.
on 20th October 1962, barely 15 years (4)

Independence, and 12 years after

China’s (5) of Tibet.
SubQuestion No : 20
Q20 gelect the most appropriate option to fill in the blank No. 5.
Ans

X 1. regression
« 2. relapse

# 3. annexation
X 4. throwback

Part-D-Hindi

U FrAfafEa wed #, 9K RAeent § ¥, 37 AeeT &1 999 5 3 FrvaF F foU 70 g F 95T &
e B T
AT & et F (AT

FT 3ITART T & % 3T == @ & v Far = g

Ans x 1. Tﬂ'mé'
X 2. gTaAr
X 3. T
4 TMET
Q.2

Fafafad vy ¥ IR Aol 7§ O, 39 9% &1 997 &3 ol SI¥ | U 7T Weg & [AdH Uee &I Ugl fdheu g |
Bt a ey R R ST 91y

Ans X1aa
X 2. Zgdl
3 3R
X4 g




Q.3

e §H Bid+ Hrdf Bl gHldl & U H WibR Hd § 2R 3¢ Gl 3R (@806) ____ I Fwifed sd g, dl
JAHR 8 9hd gl

X1 3 M
X 2. 3Udy
X3 3o
v 4 3llle

Ans

fafafad vy & IR el § 9, 39 A%ed &1 997 &8 ol SIgd | [GU U eg & ddq ¥0 &I Tg! 3 B

Q.4

(CCa iy
HT & geTsa # 3ies o Furd

X 1. UF YT FT FH FAT
X 2. 30T HE FH A AT

v 5 Ty w1 o Fr 30 = Y 3T FT F/ e Fer
x4_a§r-raﬁraﬁ‘rgﬁm

Ans

=g vea &, IR FFeet # ¥, 37 @FeT &7 999 F{ 3 By 70 d=nfeg 1 g8y 39 Jen

Q.5

Fafifad areg & Y@ifhd YT & W te aide s J1d Sifo|

eRgR # o1 il &1 W gid gl
X 1. HH
X 2. GURTY

v 3 gt
24 Fgra

Ans

Q.6

feT 71T ag # W@ifeg o & AT "@gr 9aa1 919 Ff=w)

T S 9y T ST
Ans Ktﬁr‘q

v 2o

X< 3. geT

X4 gm

Q.7

frafofea 9o #, e 71v a) Gwedt # &, 38 ooy & 797 & o Ry o gga & oy &t
IS T W Ted T 2l

HSST STATEAT

Ans

X 1. Fg BIIET g
X 2. ZUETH hiddl

X 3. T3aTrer AT
v TR T F G A9




Q.8

Ans

f3U 7T a1 § ¥aifded Weg & AW gl aa-t 31d diforg|

e e U IR geo aeX A T g |
X1 9IeR
v 2 Higedl

X o Hgedl
X 4. HEal

Q.9

Ans

Rw =17 am@ & 37 9w 7w &, Gwd w9 g 71 ofy F ST @ 7 A e 3 A o9
T AT §F v & ure § 9 9§

X grg HR S

x2 Hs e A E

X3 T& gr °e

v F o o ¥

Q.10

Ans

v v A @ 3 o A Y, TEE w1 I g
mﬁmmﬂ#ﬁmwmnmﬁwmgmﬁl

& 1 3HTIT FT UFR
xz.ETI'-EITES-IT%
X3 e W

X 4 TS AT ATHAecHAT

Q.11

Ans

f&Q 71U greRy # @ifeha 2se; b1 faild sg 1d Do
e 2 {4l 4 giaeR &A1 d1igU|

X 1. HGURUT
X 2. gHIH]
v 3 H&deRR
x4.Q:|a,,—f[




Ans

Q.12

fau U gt & fore Orie s J1d Sifong|
Ui ga- aran

X1

x 2 fUsan]

v 5. 3T
X 4 HITd

Q.13

Ans

faeT ged #, 91X Recal # ¥, 37 &FFeT 1 997 F{ J 5+ H &0 717 ke F gaga=r
oTeg & Tal fadeT & |

BY T H FHAT W S F(Fee) ol ISAT ST
gl

X1 HeHAT
X2 hel

3. TAIET
X 4. FHIHRT

Q.14

Ans

g v &, o) =9 § ¥, 39 T5e9 F1 999 #{ 3 #%5F H BT 710 e F qa7a=r
e FT Her FFeT & |

HE-UTH & HET & JY (=) g =1fEy|

X g
X2 HIE
X 3 3UER

4 aiEg

Q.15

Ans

fafafEd areg & @i d HRT & [0d T 91 Rsq J1d o |

faTer 9gd Siodl g |
X 1. gaa
X2 gt

X 3. 3fferaar
« 4 grdid




Comprehension:

A T 3 reEmer 7 Fo oeg o3 R AT § 93w Igeee % WA 9R fawed o # 3w
T N UAEF T¢ 3R IR el § § Hafead 3eaq arem ey 4|

aT 29 Rl IAe § @ & [fEar s S an, w9 dag sk & forT S Srar an
AfFd THT & TET F To9 AR U W FT Tl IeRar A T, Smd gardy o F g9
TT & 2| FAN A H W foegper o eare @@ femr Srar €1 e & g@em fF g g v
Fs off 95T T & ;M AT @ W Y aa & =1 Ry Fg e AU Agear g - T@r W ol HIIwr T
Fwe fHerT| gAR qur F Ry # a7 og=e Je TAEIE § UF gEw FN0T A § Fhie 396
FUT ST FAY 3 H HAT T80 Aal o ¢ AT 50T gAY U FF 9= Tofa 77 T &1 ganr
2T & QU FE=o @, 38 foT & T W O A 3¢ TR FIA H oo Fifrer F oo
AT 37 Bl FRUT TF FET @ 9T AR 3 N TR 944 & OT 8RR WER F TF A% AT
el &, fomer a7 ‘TT=o arg #Eae @ g 5w 3 & agg melr suanfaat = saa
2 ¥ forT &g T 2

SubQuestion No : 16

Q16 gy oy ey ST F W Y AT FEr ST on, U duw i & foT ST S o
Ans K1:Fhﬁ

X2 HERR

X3 g

v BEpf

Comprehension:

A w2 w1e@mr 7 Fo eg O /T ¢ §, Toiw Fgeos & "AT 9K fa@ed U A¢ g $H
T & AEF T¢ 3R IR el § § Hafead 3ea? arem e T4

AR ¢ fRET A # Wi F =fEar Far e an, s du sk ¥ faT ST Srar o
AT THT F TEaT F Tod gAR oA W FT gL Jiehar o oo, Swd oy e 1 g g
TE & AR FER & A W faeger off e w@t faam SeT 81 aTe &wn @ B g & a
Fg off 95T T=T & ;M AT @ W B aa & = T Fg T AT Figear @ - T@ W ol HITEH FIr
FIhe THeRT| TR 3U & RSH # SreT Sg=ra ael FAEASH A U HET HNUT ST g Fhle 3HH
FROT T AN 291 § AT 90 Agr g ¢ T 5o gy 3o & saar safa 747 @ 31 g
2T off QU FEET @, S8 [T & 7 TUA @ & HT 37¢ THER A P 7 HIfAeT Fr o
AT 37 Bl FRUT I FET @ 9T AR 3 N TR 944 & [OT 9Rd BN & UF A% WSAAT
Ferrelt &, SO 719 o= aRg 3f@ue @ T g1 5w 3fEuE F ggg et Saenfiat o sus
g & forw gr o &)

SubQuestion No : 17

7 oET ¥ 9T F Ty AN 29 W FE 9Ed aat 3 e
Ans X 1 gQroe

X 2. FH

o 3 T

X4 U




Comprehension:

A T 3 ieEmer # Fo oeg o3 R v § 93w geeg ¥ " 9R faweq fwoaw # 3w
I & UAEF T 3R IR wedl F § Hafead 3eaq arem e T4

aRT 2 frelt A= F @ & R*fEar w7 e an, 39w dag sk & forT ST Jrar an
AfFd THT & TET F To9 AR U W FT Tl IeRar A T, Smd gardy o F g9
TT & 2| FAN A H W foegper o eare @@ femr Srar €1 e & g@em fF g g v
Fs off 95T T & ;M AT @ W Y aa & =1 Ry Fg e AU Agear g - T@r W ol HIIwr T
Fwe fHerT| gAR qur F Ry # a7 og=e Je TAEIE § UF gEw FN0T A § Fhie 396
FUT ST FAY 3 H HAT T80 Aal o ¢ AT 50T gAY U FF sa=7 Tofa 77 Fedr &1 ganr
&er & QU FEEO 8, 58 foT & T W O AT 3¢ TR FIA H o Fifdver F oo
AT 37 Bl FRUT IFe FET @ 9T AR 3 N TR g4 & OT aRT WER F UF A% AT
Al &, fomer a7 ‘= 9T #Eae @ T g 5w 3P & agg Tl Suanfaat = sas
2 ¥ forT &g T 2

SubQuestion No : 18

Oy R oo off o =t @ = ¥
Ans x 1. aﬁﬁ_

2. H=adl

x5 gt

X 4. (—,h—,.ﬁ

Comprehension:

A Gu = TIe@mer 7 Fo oeg O3 R AT §, Ioiw Fgeog & A 9K fGwed fGT a© §| $H
AT & UAEF T 3R TR ewesi F F Hafead 3eax arem e T4

AT &1 e FAe & 89 & RfEar s S on, s aue st & TorT S Smar
AT BT & SCoTd & Told @AW &3 T FS gL dehdr o T, oae gAd g9 7 g
GUT g TIE| AN U A W foegd off eare g fe@r Srar g1 39 & gl R A gur &

F5 off 957 T=T @ A AL & AT O a1 g a1 T F1g TTer AT Aigoell @ - T@T 9 o7 TR HIT

Fhe THeET| A 3 & R # STl Sgas ael RIS A U HEd HNUT TG g Fie $Hh

FRUT ST AN &2 H AT THE #gT a2 3T S8 AN 821 & 3da TAfT JAdr Heldr g1 AR

2T o U FEEO @, S8 [T &% J WIS W & 3 30g G T Hr ol aifdrer Froofr

AfereT 37 BT FRUT A FET @ 9| AR 3 H TR 944 & 0T 9Rd @R & U A% AT

il &, TorHeT a1/ ‘Fa=o a9 8T @1 74 g 86 AT F ggg Jeir deErtaar & sEA
2l & forw sar aam 2

SubQuestion No : 19

1 gamr e o oofaw o @), T Rvw wE et
Ans x 1. 1 B'ﬁ'

X2 et

x5 qafed

v 4 FRTIo

=




Q.20

Ans

Comprehension:

A T 3 eEmer 7 Fo oeg o3 R v § 93w geeg ¥ " 9R faweq v # 5w
T & UAEF T 3R IR el F § Hafead 3eaq arem FeeT T4

aRT 2o Rl A= F @ & R*fEar wwr e an, 39 dag sk & forT ST Jrar o
AfFd THT & FET F Tog AR U W FF T IeRar A T, Fad gardy o F g
T g TS| gAY A H W fegpe of eare @@ femr Srar €1 e S g fF g v v
F15 off a7 T & M AT @ W Y T & A T FE T A Agear g - T@r W ol AT FI;w
Fwe THeRT| gAR au F Rery # 17 og== Je TAEAE § UF gET FN0T A § Fhie 366
FUT ST A 3 H HAT 90 Al a1 ¢ AT 50T gAY U FF 9= Tofa 77 Fear &1 g@nr
T & QU FEEO g, 58 foT & F T W O AT 3¢ TR FI H o Fiferer F o
A 37 Bl FRUT T FET @ 9| AR 3T N TR g4 & [OT 8aRT WER F TF A% AT
Al &, S a7 ‘TT=o g #Eee @ T 1 50 3w & agg mefr Suanrfaat o saa
2 ¥ forT &g T 2

SubQuestion No : 20

s HfwT ¥ aga it eafaat = suH gt & forT =ar @ 2
v 1. efdrer

X2 FgT

2{'3.&3’

X4 gy






